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Precalculus-G11-Ch5- Os. bank

Indicate the answer choice that best completes the statement or answers the question.

1. Which of the following are the solutions of cot*x — csc x = lon the interval [0, 2)?

a.5x b.x 5x 3x
fi 676 " 2

c.z 5z d5x 3x

67 6 "2

2. An alternating current i in amperes in another circuit can be found after t seconds using
i =4 sin(195%¢). Rewrite the formula in terms of the difference of two angle measures.

4 sin(30° - 225° 1
a. 4sn( ) b &sm(EESDI—ED‘:‘ﬂI

c. d. 4sin(225° - 30°0)

sin(30°¢ - 225°)

Ia | —

2 -
3. Simplify 2251
l—secx

& cotix+ 1 b. cotx- 1
C.1-cotx  d.cannot be simplified

T

III,2

. 4 ] .
4, If sin &= gand 0 terminates on the interval

} , find the exact value of tan 20.

ow

24

o
L | s

d. 24
=

5. Iftan 0= 2.8, find <ot (6= Z ),

a.—2.8 b.0.36
c.2.8 d.-0.36



Name: Class:

Date:

Precalculus-G11-Ch5- Os. bank

6. Rewrite s 8x sin 10xcos 8x cos 10xsm 8xcos 10xcos 8x s 10xas a sum or difference

[cns(—Ex} - cns(lEx}] b. [cns(—Ex} + cns(lEx}]

o £
ral— ] —
o
ral— ] —

[cus(lEx}+ cns(lEx)] [cns(—Ex)+ sin(lEx}]

7.S0lve 7—fiamnx =3+ Zsmxfor 0° = x = 180°,

a. 120° b. 180°
c. 135° d. 150° or 307

8. Use a half-angle identity to find the exact value of cos 22.5°,

a.

2- A2 b. 2+ A2

d d
C. '|2+»\|"'§ d. 'IE—/\:'IE

2

2

) 13 5
9. Find the exact value of sm—fr + 2

1z T
a NER ) N
2 2
¢ .[g d .f2
2 2
10. Simplify —— + —

. Simplify cscx+ 1 cscx-1°
a. Zcosxsecix b. —2tan®x
C. —Z2cot®x d. Zsinxsecix
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11. Verify which of the following are trigonometric identities.

cot? 8
csc 8
cot’ 8
csc &

1)2 sec’ 8= 4 tan &cos Scsc’ &

2)4 sec’ @ = 4tan @cos Besc’ &

a. Only the second equation is an identity.
b. Only the first equation is an identity.

c. None of the equations are identities.

d. Both the equations are identities.

12. Which sum or difference identity can be used to verify csc csc[g - é'] = sec &7

a.sin(a—b) =sinacosb-cosasinb  b.sin(a—b)=sinasinb-cosacosb

C. tane —tanb d.csc(a—b)=cscasecb—secacsch
tan@-b)=—F——=
1 +tanatank
x X .
13. Solve 21:8115 + 21:8115 - ~/30n the interval [0, 2x).
a .f3 b. x
5 3
cx Zr d . f3
'3 7
- 2
. . - . . M1 X+ Cos X
14. What basic trigonometric identity would you use to verify that ——— = zecx?
cosx
a. 1 b. 1+ cot®x = csc’x
X =
CSCX
C.cos’x+sinx =1 d. 1
COsX =
fECX
. . cosx
15. Simplify pp—

a tanx—tanxcscx b, stnxcosx+ cosx
c.tanx—tanxsecx d. tanx+tanxsecx
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16. Simplify (cosx - sinx)(cosx + sinx)

a2 2 2
A zin“xcos’x b. 2cos®x+ 1

C. Zcosix—1 d.o
1
17.c052x+§=ﬂ
a. w b. im
F+2m,3+2m 3+2ﬂ?2, 3 + 2am
C'£+M'2—H+m d£+ﬂ?2'£+ﬂ?‘2
3 T3 fi 3

. tan 155 + tan(—95)
18. Find the exact value of I~ tan 155 tan(-95)

a. —.f3 b._ﬁ
3
c.ﬁ d..f3
3

19. Which of the following are the solutions of cot*x+ 2csc x = —2on the interval [0, 27)?

a.3n x
227
C. w
|:| -
?'Tr? 3 H
21.cosxtanx — cosx= 10

a. Sw b. T
I:I+,agj'r,T+2P2ﬂ' I]+,ag;rz;1+2?2ﬂ'

c. £+mr5—ﬂ+2ﬁzfr d. E+sz'{£+2}~2;‘{
2 ’ 2 "4

4
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22.If cot 0= 3.8, find tan (6~ Z)

a.0.26  b.-0.26
c.3.8 d.-3.8

Find all solutions of each equation on the interval [0, 360).

23.cscx+ 1 =cotx

24, Simplify 2251
l—sm*x

a. tan2x+ secjx b. tanzx— secjx
C.zecix—tan®x  d.cannot be simplified

tan 115 + tan(=70)

25. Find the exact value of I —tan 115 tan(=70)

a. nio solution b. 0
c.-1 d. !

26. Solve 21:811% + 21:811% - ~/Zon the interval [0, 2x).

==
|
(on

o
o |

|u-.

=

o {
=% &5

-2 -2

1
+ .
cosx+ 1 cosx-—1

27. Simplify

a. —2cotxcscx D, 2gecix

C. Troacix d.—dtanxsecx
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x a3

28. sm§+T =1
a. & 10w b. 4x 5
T+EM’T+EM T+2m, 7 + 25m
C'4TH+4M;5TH+4M d'STE+4m;—m3f+4m

29. Simplify %

a. cotx+ cotxsinx b. cotx+cotxcosx
C. SINXCOSX+ SN X d. cotx—cotxcosx

“m

. 13
30. Find the exact value of cos 1—; + cos R

31. Which of the following expressions is equal to 1 — cos* 92

a. 2sin® —sin* @ b. sin? 9 —sin* 9
C. 2sin20—sin*e - 2sin 9 +sin* 6

32, cotxsinx + cotx=10

a. 3 b. T
I:I+,>3j'r,T+2PE)T I:I+,>3j'r,§+2.='2ﬂ'
. £+P2JT£+2PEJT d. £+P2:?E'3—ﬂ-+2?2ﬂ'

2 T2 2 T2

33. Write cos{arcsin 3x + arccos x)as an algebraic expression of x that does not involve trigonometric functions.

a'xdl—?xz—ﬁx«fl—xg b'3x«4'r1—x2—xw'r1—9x2

C':w'rl—lvr:‘—:Jr'\.l'rl—x:4 d'—4x 1-x

x 1
34. sm§+§ =10
a'T—f+2m;—11H+2m b'T—E+4m;—11f+4m
3 3 3 3
c. Tm 117 d 7x 117

?+4M;T+4ﬂ?‘2 ?+EM;T+EM
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35. Simplify (tané&- sec &)°.

a. sin&-1 b. l-an &
1+ & 1 +amm &

C.tan’ 8- zec’ e d sec?e—tan’ e

36. If sin= %and sec& < [, find cos&and tan &

a A1 243 b. 21
cosé= ? tan = ———— secP= 2«,‘?, tan &= =
¢ 21 ) d. 24021
cosf= = tan &= 31 cosf= 2, tanb= —

37. Use a half-angle identity to find the exact value of tan 22.5°,

. 3
38 sm2x+%=ﬂ
a£+M'5—H+m b'£+2mj—f+2m
3 T3 3 T3
C'E—H+M'5—E+m d'z—ﬂ+2m5—f+2m
3 T 6 3 ]

(@]
=
LA
=
o
(%)
=
e

il
T4

40.Solve 4 + 2sinx = 14— amnzxfor 0° = x = 180°,

a. 0° b. 60°
c. 90° d. 45°
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41, Rewrite cos9x cos4xas a sum or difference.

a. b.

[cns(ﬂ;{)+ cns(lEx}] [cus(lE;{)+ cns(lEx}]

o
ba|—  pa]—

[cus(ﬂx}+ sin(lEx)] [cns(ﬂ;{)— cns(lEx}]

42. Find the exact value of cos 752,
& fo- 2
4
b. ﬁ

o
[
=

NN

=~

Find all solutions of each equation on the interval [0, 360).

43 . tanx + 1 = secx

2
c.l.x d.£3_:rr
27 2

44. Use a half-angle identity to find the exact value of caos 67.5°,

a. 2+»\|"E b. 2+/\|"E
d d

C. 2_,\]'.'5 d. 2_/\]'.'5

—_ T

2

45. Which sum or difference identity can be used to verify sin[E +x

a.sin(a+b)=sinasinb+cosacosb b.sin(a+b)=sinasinb-cosacosb
c.sin(a+b)=sinacosb-cosasinb d. sin(a +b) =sinacos b + cosasinb
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46. If sec O = —7.3, find %1 [ - %)

a.-0.14 Db.73
c.0.14 d.-7.3

47. If stn&= %and secd < [, find cos&and tan &

a 2

cos &= 2, tand= — cosf= ——, tanf= ———

© secom 2.3, tand= % d cosf= %, tan&= %

48. Simplify (cac&- cut&'}lg.

a. cos&-1 b. 1-cos &
l4+cos & l+cos 8

C. cot* &-csc 8 d. csc? &- cot’ 8
49. Simplify (cotx — cac x)(cotx + cscx)

a. -1 b. !

c.0 d. csc’zcot’x
50. Simplify (tanx — secx)(tanx + secx)

a. -1 b. !

c.0 d. secixtan’x
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Answer Key
1.b

2.d

10.d
11. a
12. a
13.¢c
14.c
15. ¢
16.c
17.c
18.d
19.d
20.a
21.d
22.d
23.c
24.b

25.d
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26. a

27. a

28.d

29.b

30. a

3l.a

32.d

33.a

34.b

35. a

36. a

37.a

38.¢c

39.b

40. c

41. a

42. a

43. ¢

44. ¢

45.d

46. c

47.b

48. b

49. a

50. a



